(AYIY) I (AYIY),

6

0

HAULAB -Y-Empfindlichkeit
S/Su=AYMIAYrY),  normiert fur (AY/Y),
L* =s(Y/Yp)'-d (Y,=100,Y,;=22,5=134,6, n=0,31, d=34,6)[
L*=r (YIYy)"-d (r= s(Yu/Yn)":79,10,L*u= r-d =44,4)  [1b|
dy /Y= [(Yn/(ns)](Y/Yn)lfnlY [3c]
Y_curve, ij=0, Yuij=22, L*uij=50
k=99, Ykij=100, L*kij= 99,9, AYIY)AAY/Y)LI =0,62
k=22, Ykij=23, L*kl 507( Y/Y)/( Y/Y)u 099 $=120'=2
k=1, Ykij=2, L*kij= 54 (AYMIAYTY), L —SOOCdIr%
k=0, Ykij=1, L*kij=-2, 32(%‘56)/(AY/Y)u 262 it

Anwendungs-
bereich
91
i ~90,628
» 20 ,Y,=18100
10 oe g logY
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